F190E RIRFHBEI AN

B $F074£038288 —7E2E :500P BiEIIILJ7ERE
Bz E % OUT | IN | GR | HDCP | NET o 4] {3 E 4 OUT | IN | GR | HDCP | NET &=
101 |3R&F & 54 | 56 [ 110 (31.2 |78.8 1500P
102 |fEHAE EE 47 | 44 ) 91 |12.0 |79.0 1500P
103 |28 IE— 54 | 55 | 109 |30.0 |79.0 1500P
104 [[RH IEm 49 | 47 | 96 |16.8 |79.2 1500P
105 ;@A RIE 56 | 46 102 (22.8 [79.2 BEET
106 |¥O HRE 52 | 56 | 108 |28.8 |79.2 1500P
107 |zl EM 48 | 53 | 101 |21.6 |79.4 1500P
108 |BF#t I 48 | 53 | 101 |21.6 |79.4 1500P
109 [#34F 2p8t 52 | 55 | 107 |27.6 |79.4 1500P
110 |Rk & 57 | 56 [ 113 |33.6 |79.4 E—IL
111 | #74% AR 49 | 45 | 94 |(14.4 |79.6 1500P
112 |hft fh— 49 | 51 1100 20.4 |79.6 1500P
13 IR BUE 50 | 50 [ 100 {20.4 {79.6 1500P
114 |$BE B2 52 | 48 | 100 |20.4 |79.6 1500P
115 | &F #&k 54 | 58 [112 [32.4 |79.6 BEET
116 ;kH & 61 57 | 118 |38.4 |79.6 1500P
117 |#2 EF/ 46 | 47 | 93 |13.2 |79.8 1500P
118 | AT % 46 | 47 | 93 |13.2 |79.8 1500P
119 |h%t EF 50 | 55 [ 105 (25.2 [79.8 1500P
120 |B2 B 49 | 55 1104 |24.0 (80.0 E—IL
121 ;8 &B 62 | 54 | 116 |36.0 |80.0 1500P
122 [lLBg FHH# 54 | 43 | 97 |16.8 |80.2 1500P
123 #BH =& 50 | 53 | 103 |22.8 (80.2 1500P
124 |HiE Z 51 | 51 | 102 |21.6 |80.4 1500P
125 |5 B 55 | 59 | 114 |33.6 |80.4 BEET
126 | £l 1EfT 48 | 53 | 101 |20.4 |80.6 1500P
127 ;)xE HE 52 | 48 | 100 [19.2 (80.8 1500P
128 |38 1EBA 56 | 56 | 112 |31.2 |80.8 1500P
129 | kEF &= 47 | 51 | 98 |16.8 |81.2 1500P
130 #8 =0 48 | 50 | 98 |16.8 |81.2 E—IL
131 |gIEY #H= 49 | 61 | 110 |28.8 |81.2 1500P
132 [lLK #BF 53 | 57 | 110 |28.8 |81.2 1500P
133 288 & 48 | 49 | 97 |15.6 |81.4 1500P
134 |#¥At  B— 49 | 47 | 96 |14.4 |81.6 1500P
135 | &K HEX 48 | 54 102 |20.4 |81.6 BEET
136 \F9ERR Fo&k 50 | 51 [ 101 {19.2 (81.8 1500P
137 |BA &= 52 | 55 | 107 |25.2 |81.8 1500P
138 |&kTEH Xi&E 64 | 61 [125 (43.2 (81.8 1500P
139 |#AH IXHR 54 | 51 | 105 |22.8 |82.2 1500P
140 lLXx EBxXB 54 | 50 | 104 |21.6 |82.4 E—JL
141 [IUF  th#st 52 | 58 [ 110 |27.6 |82.4 1500P
142 |giiH =% 53 | 54 | 107 |24.0 |83.0 1500P
143 |h¥ FA 48 | 50 | 98 [14.4 |83.6 1500P
144 |BRlR %E— 55 | 55 [ 110 |26.4 (83.6 1500P
145 |E& B 56 | 47 | 103 |19.2 |83.8 BEET
146 | ER  ZE#0 b8 | 55 [ 113 (28.8 (84.2 1500P
147 ER4 i 60 | 58 | 118 |33.6 (84.4 1500P
148 T2 BB 61 | 57 [ 118 |33.6 |84.4 |BB 2000P-E
149 | X+ Bk 68 | 65 | 133 |40.8 [92.2 |BYRIiE BT
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